Cubic Graph T1

1. a. Show that x = 2 is a solution of the equation x*-x-6=0.

(2‘33_2,(0 = 3-2-( = $-%-0

b. The diagram opposite shows the graph of y = x> - x -6.

i Write down the coordinates of point A. (2 ] O L

ii Use the graph to explain why there is only one solution to the equation. x> - x-6=0.

The graph (rosses the X dxis coly oxe,

2. a. Find the coordinates of point B. LO, - 6))

b.
i What transformation changes the graph of y = x> - x -6 into the graph of y=x*-x ?

Tanslate & units up

ii Sketch the graph of y = x> - x on the diagram.

«Jii What are the solutions of the equation x* - x=0?

0, —1\ |
X(Xz"‘\):() O I, - o

X(x+V)(x—=1) =0
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Cubic Graph l 2

1. a. Show that x = 2 is a solution of the equation x> -x-6=0.
2~2-60
Ye2-6<0

00
b. The diagram opposite shows the graph of y = x* - x-6.

‘1 Write down the coordinates of point A. (2.0)

ii Use the graph to explain why there is only one solution to the equation. x> - x -6 =0.
The eq‘}ﬂhm 15 neY <« M‘a_g[g and on)y inkersecs the

¥-ax15 a¥  gwe ,ﬂoiznb so D s o%lv one  Soldtion

2. a. Find the coordinates of point B. (o ; -6)

b.
i What transformation changes the graph of y = x” - x@ into the graph of y = x> - x

<\ide vp J4

ii Sketch the graph of y = x> - x on the diagram.

lii What are the solutions of the equation x*- x=0?

s s X:0,
Polz0 0-0:-0 [0+l
-1+ =0
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Cubic Graph i 3

1. a. Show that x = 2 is a solution of the equation x° - x-6=0.

B
- 7,3- 6 ;
2 =620 Hug
. € -3-420 6-6=0 =
b. The diagram opposite shows the graph of y=x"~x-6.
i Write down the coordinates of point A. @ @)

ii Use the graph to explain why there is only one solution to the equation. x> - x-6=0.

Thegl‘aﬁ% crecs?s the wpms pakere€,

2. a. Find the coordinates of point B. ( Q /é >

b.
i What transformation changes the graph of y = x> - x -6 into the graph of y = x> - x ?

T.ﬂ m il L /f% R .hs_ up
!

ii Sketch the graph of y = x* - x on the diagram.
R

—3/-)
—

e

-'3’ -2
Tii What are the solutions of the equation x° - x =07? / _ﬂ_‘_}
Z
=
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Cubic Graph I 4

1. a. Show that x = 2 is a solution of the equation x> - x-6=0.
(2)*7-k =0

§-21-=-0
b-=0

b. The diagram opposite shows the graph of y = x* - x - 6.

1 Write down the coordinates of point A. (2,0)

ii Use the graph to explain why there is only one solution to the equation. x> - x -6 =0.

6 L, (AP fhe x-S ol O s there s anlu one

SOlAHON ,one ‘X' value

2. a. Find the coordinates of point B. Y= 0-00=0 (0,-&>

b.
i What transformation changes the graph of y = x> - x -6 into the graphof y = x> - x ?

move, the Qraph up by & al\\ values incvense by b, X values

vemai) e sy

ii Sketch the graph of y = x* - x on the diagram.

V=8 Z=6

lii What are the solutions of the equation x> - x =0?

-\
1. j -0
LrEA
2.\ = O
4 !
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Cubic Graph T5

1. a. Show that x = 2 is a solution of the equation x*-x-6=0.

23,7_/5; O
g-1-6=0
£-6 = O

—

b. The diagram opposite shows the graph of y = x* - x -6.

1 Write down the coordinates of point A. (72, OJ

ii Use the graph to explain why there is only one solution to the equation. x* - x-6=0.
The line. poasses througn the, X-oxis only jn one
locgion.

03 ~0-6= (_d
. . . —b=-u _ ‘3
2. a. Find the coordinates of point B. } (0,-6

b.
i What transformation changes the graph of y = x>~ x -6 into the graph of y = x> - x ?

uJ\/»xo’—Xf(o Nas Deen 'h"anslgﬁeﬂ op © units.

3

ii Sketch the graph of y = x” - x on the diagram.

(0/0) L"\' }

o o)
(m (27 ©) f’,; 1
( \ (3r ZLﬂ é-——-‘o & =
(3¢7J*7(u o7, B
(¢ 60

lii What are the solutions of the equation x* - x=0?

(-1.0).(0,0).(.CJ
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